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2 (1) FPrIH=3000/3=1000 (J37C)

FIEE N ILE R E=1000+1000=2000 (J370)

FoOFEEWIATRE=1000X (1+20%) +1000=2200
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HIEBE AT E=1000X (14+20%) 2+1000=2440
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FIE=2000/ (14+8%) +2200/ (1+8%) 2+2440X
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+2440X 0.7938—3000 =2674.87 (JiJu)
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=2275X3.3121+2775X0. 6860—5500=23938. 68 ( J37t)
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& FPE=2275X (P/A, 8%, 5) +500X (P/F, 8%,
5) —5500

=2275X3. 99274500 X 0. 6860 —5500=3926.39 (}57T)
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(3) AHZRELIFRE=2674.87/ (P/A, 8%, 3) =
2674.87/2.5771=1037.94 (Ji7t)

By RFE 413 =23938.68/ (P/A, 8%, 5) =
3938. 68/3.9927=986. 47 (JiJt)
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